
    s[lif tyf jg lj1fg ljZjljBfnos[lif tyf jg lj1fg ljZjljBfnos[lif tyf jg lj1fg ljZjljBfnos[lif tyf jg lj1fg ljZjljBfno    

                    kz' lj1fg, kz' lrlsT;f / dT:okz' lj1fg, kz' lrlsT;f / dT:okz' lj1fg, kz' lrlsT;f / dT:okz' lj1fg, kz' lrlsT;f / dT:o    lj1fglj1fglj1fglj1fg    ;+sfo ;+sfo ;+sfo ;+sfo     
8Lgsf] sfof{no 8Lgsf] sfof{no 8Lgsf] sfof{no 8Lgsf] sfof{no         

        r=r=r=r=    g+=g+=g+=g+=                                                                                                        /fdk'/, /fdk'/, /fdk'/, /fdk'/, lrtjg, g]kfnlrtjg, g]kfnlrtjg, g]kfnlrtjg, g]kfn    
 
  

                                                                                    
 ldltM 2070÷9÷12 

;úrgf 
o; kzÚ lj!fg, kzÚ lrlsT;f / dT:o lj!fg ;+sfosf] lj=eL= P:;L P)* P=Pr= 
:gfts txsf] z}lIfs ;q 070÷071 df ljBfyL{ egf{sf] nfuL ldlt 2070÷8÷20 ut] 
lnOPsf] k|j]z k/LIffsf] d]/L^ lni^ cgÚzf/ l/Qm /xg uPsf] UDF sf]̂ fdf tkzLnsf 
ljBfyL{x?sf] egf{sf] nflu gfdfjnL k|sflzt ul/of] . 
l;=g+=  ljBfyL{sf] gfdl;=g+=  ljBfyL{sf] gfdl;=g+=  ljBfyL{sf] gfdl;=g+=  ljBfyL{sf] gfd                            d]/L^ g+=d]/L^ g+=d]/L^ g+=d]/L^ g+=                lnélnélnélné        k|fKtf°k|fKtf°k|fKtf°k|fKtf°    
1= ljeÚtL l;+x     60    kÚ?if 6545=3 
2= dGh/L dxh{g     61    dlxnf 6532=8 
3= ;lngf >]i&     63    dlxnf 6481=0 
            j}slNksj}slNksj}slNksj}slNks    
1= ;lGbk e§/fO{     64    kÚ?if 6479=5 
2= lzj rfkfufO{     66    kÚ?if 6466=8 
3= k|lbk zdf{ kf}*]n    67    kÚ?if 6456=7 
 
2= o; kzÚ lj!fg, kzÚ lrlsT;f / dT:o lj!fg ;+sfosf] lj= P:;L lkm;/Lh :gfts 
txsf] z}lIfs ;q 070÷071 sf] ljBfyL{ egf{sf] nflu ldlt 070÷8÷20 ut] lnOPsf] 
k|j]z kl/Iffsf] d]/L^ lni^ cgÚzf/ l/Qm /xg uPsf] %fqf sf]̂ f / UDF sf]̂ fdf 
tkzLnsf ljBfyL{x?sf] egf{sf] nflu gfdjnL k|sflzt ul/of] 
  %fqfsf]̂ f   d]/L^ g+=  k|fKtf° 
 ;Ú:dLtf yfkf    21   5840=8 
 j}slNksj}slNksj}slNksj}slNks        
    ;hgL yfkf    24   5728=00 
UDF    sf]̂ fsf]̂ fsf]̂ fsf]̂ f    
l;=g+=  ljBfyL{sf] gfdl;=g+=  ljBfyL{sf] gfdl;=g+=  ljBfyL{sf] gfdl;=g+=  ljBfyL{sf] gfd                                d]/L^ g+=d]/L^ g+=d]/L^ g+=d]/L^ g+=                    lnélnélnélné        k|fKtf°k|fKtf°k|fKtf°k|fKtf°    
1= dlGbk clwsf/L     22   kÚ?if 5791=5 
2= ;Újf]w kf]v/]n     23   kÚ?if 5785=3 
3= ;hgL yfkf     24   dlxnf 5728=00 
 
    
    

   kmf]g M  )%^–%(@!#! 
  km\ofS; g+= M )%^–%@^)!$   

 

 
   

 

 



    
    
    
j}slNksj}slNksj}slNksj}slNks 
1= eÚjg b]jsf]̂ f     25   kÚ?if 5711=00 
2= u)f]z kGyL     26   kÚ?if 5692=30 
3= lbkf s]=;L=     27   dlxnf 5634=8 
     
 
Dffly pNn]lvt d]/L^ lni^ cgÚzf/ lj=eL= P:;L P)* P Pr, lj= P:;L lkm;/Lhsf] 
UDF / %fqf sf]̂ fdf gfd pNn]v ePsf ljBfyL{x?n] 2070÷9÷17 ut] ;Dd sfof{no 
;do leq egf{ e} ;SgÚ kg]{% . :yfg /LQm /xg uPdf j}slNksdf gfd pNn]v ePsf 
ljBfyL{x?sf] 2070÷9÷19 ut] sfof{no ;do leq dfq egf{ lnOg]% . 
2= lj= P:;L lkm;/Lhsf] UDF sf]̂ fdf egf{ xÚg] ljBfyL{x/n] klxnf] ;]d]i^/df 
?=75000. -cIf?kL krxQ/ xhf/ dfq_ / t]>f] ;]d]i^/df egf{ xÚbf ?= 75000. -
cIf?kL krxQ/ xhf/ dfq_ u/L hDdf ?= 1,50,000. -cIf?kL Psnfv krf; xhf/ 
dfq_ jÚemfpgÚ kg]{% .  
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